Jend it like J3eckham
Choose the correct answer. More than one answer might be correct.

1) When Jess and her father return home -
O he shouts at her because of all her lies. ~ N
O she says that she’s sorry for all her lies. . : ‘
nobody is interested in all her lies. ‘
L 4

2) Teetu’s parents =
¥4_don’t want their son to be unhappy and miserable. — ¢ Y-t Lacghdoen X2 ?f:
O know now that it was just a girl they saw with Jess the other day. e
O apologize to Pinky for making her so unhappy by calling off the wedding.

3) gr Bhamra fixes the date for Pinky’s wedding

on the day of the final against the Queen’s Park Rangers (QPR) . W 4 W,
O right on Jess’s birthday.
O on the day of the return match against the Germans. ' . ’

Jules tells Jess that

the team missed her at training.

. Joe told her what had happened with Jess’s dad.
“an Americari'scout will be watching the next match.

5) Mr Paxton‘fries to éxplain some basic football rules to his wife while eating a meal. The

sea saltis
the defender. The swa seld was Yo S
the attacker. Qevt € Lt X wu stosd
O the goal keeper. (= X d\e_ékw\,g)

6) Jess’s exam results are reallyrgood, so she is
O happy because
§Q|:unhappy because D¢ Yas  O¥s  Paod e /Q\'Pcm}g 5 Vo (@m‘»\d
(Finish the sentence you choose.) o 2EcTror s O Mar ORecm |
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7) Jess finds the party with her extended family 0
O funny because of the interesting conversations and the dancing.
\g\exciting because the man of her dreams seems to be very interested in her.& she Vg aok

boring and annoying. BN TR 20 PURN
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8) When Joe comes along Skik«\a‘ir(?m AN PRI

O Jess is happy to see him because

/
Jess is not happy to see him because e meZs T Ssued 0 ecisy, _
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